Dawson College: Business Mathematics: 201-801-DW

Name: SScJTIoW §
Student ID:

Test 3

No books, notes or cell phones are allowed. You must show all your work, the correct answer is worth 1 mark the
remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (1 mark each)
Evaluate the following to two decimal places:
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Question 2. (3 mar ks) Simplify expressing your answer with positive expoﬁénts only:
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Question 3. (3 marks)
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Question 4. (4 marks) Marc invests $3300 for 5 years and 3 months at a rate of 7% compounded quarterly. What is
the future value of the investment?
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Question 5. (4 marks) How much will the owner of a house assessed at $237 000 owe in taxes if the mill rate has been
set at 16.78?
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Question 6. (2 marks) 13% of what amount is $47.45.
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Question 7. (2 marks) Solve for x:
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Question 8. (4 marks)

. Fran makes payments of $1300 into a savings account every six months. The account has an interest rate of 2.75%
compounded semiannually. What will she have in her bank account after 12 years?
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Question 9. (6 marks) .
A local electronic shop pays $2516.00 for a digital projector less 25%, 18% and 8%. Expenses are 36% of selling

regular selling price and they want to make a profit of 11% of regular selling price. To clear out-old inventory the shop
decides to sell the projectors at a markdown of 10%. What is the operating profit or loss?
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Question 10. (4 marks) How much should be ihvested to accumulate $8000 in 3 years compounded daily at 4.35%7
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Question 11. (4 marks)

James is planning a long trip and wants.to receive a payment of $3000 every two months for the 2 years. Interest is

6% compounded every 2 months. How much money does he need to have in his account at the beginning of the 2 year
period? ' '
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Question 12. (5 marks)

Yann purchased a carbon fiber road bike today for $4600. What is the amount of the equal payments that he must
make every 2 months for the next 2 years to pay for the bike if interest is 8% compounded every 2 months?
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Question 13, (2 marks)
What is 164% of 52177
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Question 14. (4 marks) : )

John owed $350 2 months ago and owes $1100 in 7 months. He arranges to settle the debts with one payment to be
made in 1 month from now. What is the size of the payment to be made in 1 month? (use one month from now as the
focal date), |ASTER &7 1S B ea.
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Question 15. (5 marks)
How many payments of $100 each month amounts to $3439.01 at 5.52% compoundéd monthly?
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